4010-540 Principles of Software Architecture and Design

Unit #2 – Chapter 16 [J2EE/EJB] – Team Questions

	Member #1 Name
	Name #1 – replace blue text with your responses.

	Member #2 Name
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	Member #3 Name
	Name #3

	Member #4 Name
	Name #4

	Member #5 Name
	Name #5


1. Defend or refute the following statement: “The EJB container’s role in the J2EE architectural model is that of a mediator (in the sense of the Mediator pattern).” Provide specific characteristics from the description of how containers and EJBs work to support your contention. (5 points)

Your team’s answer goes here.

2. The J2EE/EJB architecture supports both stateful and stateless session beans. The text discusses the performance advantages that accrue to the use of stateless beans. Given this, give an example where stateful beans might still be advantageous. Hint: Where is there a cost in the stateless approach that is eliminated by the stateful approach? (5 points)

Your team’s answer goes here.
3. Other than the EJB container, identify and describe two distinct uses of the “use an intermediary” tactic in the J2EE/EJB specification. (5 points each; 10 points total)

Use #1 – Your team’s answer goes here.
Use #2 – Your team’s answer goes here.
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